* Optimize the Monte Carlo peak position and sigma
to better match data by minimizing chi*2 when
fitting rotated mass

1: %2 vs. 6 change 6: [0.00, 0.02] 2: x2 vs. ¢ change 0:[0.02, 0.04]
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3: %2 vs. ¢ change 6:[0.04, 0.06] 4: %2 vs. o change 6:[0.06, 0.08]
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M.C. o vs. 6 before and after correction
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M.C. mean vs. 0 before and after correction
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1: rotated m,, w/ outer layer 6[0.00,0.02]

hrotdwouter 0

N data Entries 2021
_— total fit +\ Mean -0.01425
B . , RMS 0.0482
L | —=— peak fit -‘ x2 / ndf 49.33/45
| m— kg fit 1 Npo 849.2 +31.3
B po 8.369 + 0.829
- — ) bkg
B p1 -0.2331+ 0.0767
B { p2 0.00752 + 0.00284
B p3 -7.632e-05 + 1.902e-04
B
-0.1 -0.05 0 0.05 0.1
3: rotated m,, w/ outer layer 6 [0.04,0.06]
hrotdwouter 2
data Entries 7346
total fit Mean -0.01187
. RMS 0.04957
—&— peak fit J ¥/ ndf 56.83 /45
m— kg fit Npo 3019 +60.5
0 +
obkg p 37.7+1.8
p1 -0.8935 + 0.1595
p2 0.02018 + 0.00594
p3 -2.534e-05 + 3.970e-04
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2: rotated m,, w/ outer layer 6 [0.02,0.04]
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data
total fit
peak fit
bkg fit
o bkg

hrotdwouter 1

Entries
Mean
RMS
x2 / ndf

N
pO
p1
p2
p3

5699

-0.01429

0.04807

67.67 /45

2263 £ 51.9

29.12 +1.50

-0.9318 +0.1367
0.01297 £ 0.00503
0.0002283 + 0.0003362

-0.1

Using best tdiff, tdiff cut [-7, 7] ns

-0.05

4: rotated m,, w/ outer layer 6 [0.06,0.08]
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data
total fit
peak fit
bkg fit
o bkg

hrotdwouter 3

Entries
Mean
RMS
x2 / ndf

N0
PO
p1

p2
p3

7419

-0.01082

0.05026

69.77 / 45

2818 £59.4

42.96 +1.83

-0.8733 £ 0.1666
0.0125 +0.0060
5.596e-05 + 4.065e-04




n° yield (Si, crystal w/ tran.)
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| Using best tdiff, tdiff cut [-7, 7] ns
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v? / ndf 228 /121
I 7.774 £0.064
C1 0.8899 + 0.0068
¢ 0.7931+ 0.0260
C2 0.5112 + 0.0160
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I' vs. tdiff cut

® M.C.shape ® Double Gaussian

1 Q

. ® 1

1 ®
© 9

o
e 9
?
4.5 5 5.5 6 6.5 7 7.5




Coherent vs. tdiff cut

® M.C.shape @ Double Gaussian
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@ vs. tdiff cut

® M.C.shape @ Double Gaussian
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@ vs. tdiff cut

® M.C.shape ® Double Gaussian
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